Simplifying Expressions (C)

Simplify each expression.

1 4bx+bx—1+x 6. —az+z—7"+37+z2
C—x Vv 11 7.y+ct+l—y—y
—24u—uy—1+43 8. 6+6+z—4uz—1
1+14+b—1+5ab 9. a* —x+3x* +6x* — 1
=24l 1—v—vy 10. =1 —=24c—4c—4c
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Simplifying Expressions (C) Answers

Simplify each expression.

. 1+bx+bx—1+x° 6. —az+z—2"+37+z2
= 2bx +x° = —az—7"+57

2. — x4+ v i —1-1 7.y+c+1—-y—y
=2’ —x—2 =-—y+c+l

3. 24u—uy—1+3 8. 6+6+z—4duz—1
= —uy+u = —4duz+z+11

4. 1+414+b—1+5ab 9. a* —x+3x>+6x°— 1
=Sab+b+1 =a*+ 9% —x—1

5. 2V +14+1—v—v 10. =1 —-24c—4c—4c
=2 —2v42 =—Tc-3
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